DURA-TECH 5 SHELF SHELVING UNIT

3

ENLARGED
VIEW

00T T0TT T T DT T DTV T TV T DT T T DT T T DTV T DT TT T T T T Tl

ST TTTTTTT,

N JTTTTOTITID

IRlallowell

DIV. LIST INDUSTRIES INC..

Jo

CROWN NUT
ENLARGED VIEW

)

SHOULDER BOLT
ENLARGED VIEW

1/4 x 20 P.M. CROWN NUT

1/4" x .58 L. SHOULDER BOLT

~
PACKAGE CONTENTS
REF. # | DESCRIPTION PART # aty
(@ | ANGLE BACK POST 5004-hh 4
3@ | HEAVY-DUTY BOX SHELF 5138-wwdd| 3
(@ | SHELF CLIPS 5133 12
(@ |DURA TECH SHELF DTSwwdd | 2

SB1420N 32
SB1420 32

PART NO. LEGEND:
ww = WIDTH

dd = DEPTH
hh = HEIGHT

COMPONENTS DT




DURATECH 7 SHELF SHELVING UNIT

3

ENLARGED
VIEW

JT0TTT0T DT T TTT T TTT DT T T TV T T DT T T DT T DT T T TL T/
Fa— rE— P S S S S S S S S S S S S S S S S ra— .

IRlallowell

DIV. LIST INDUSTRIES INC..

ST TTTTITLT

Jo

CROWN NUT
ENLARGED VIEW

)

SHOULDER BOLT
ENLARGED VIEW

[ PACKAGE CONTENTS
REF. # | DESCRIPTION PART # aTy
(@ | ANGLE BACK POST 5004-hh 4
3@ | HEAVY-DUTY BOX SHELF 5138-wwdd| 5
(@ | SHELF CLIPS 5133 20
(@ |DURA TECH SHELF DTSwwdd | 2
1/4 x 20 P.M. CROWN NUT SB1420N 32
1/4" x .58 L. SHOULDER BOLT |sB1420 32

PART NO. LEGEND:
ww = WIDTH

dd = DEPTH
hh = HEIGHT

COMPONENTS DT 7




DURATECH 8 SHELF SHELVING UNIT

ﬁ
Ny

ENLARGED
VIEW

=4

-4

o\

o\

IO T 0T T TOTT T T T I T T TOTITVT DT T DT T DT O TT T I TTTTTD

LA

STTTTTTLTT,

IRlallowell

DIV. LIST INDUSTRIES INC..

Jo

CROWN NUT
ENLARGED VIEW

)

SHOULDER BOLT
ENLARGED VIEW

[ PACKAGE CONTENTS
REF. # | DESCRIPTION PART # aTy
(@ | ANGLE BACK POST 5004-hh 4
3@ | HEAVY-DUTY BOX SHELF 5138-wwdd| 6
(@ | SHELF CLIPS 5133 24
(@ |DURA TECH SHELF DTSwwdd | 2
1/4 x 20 P.M. CROWN NUT SB1420N 32
1/4" x .58 L. SHOULDER BOLT |sB1420 32

PART NO. LEGEND:
ww = WIDTH

dd = DEPTH
hh = HEIGHT

COMPONENTS DT




